
    DAV PUBLIC SCHOOLS, JHARKHAND ZONE- H 
 

 STD – III         Portion for Mid- Term Exam  (2023-24)                 F.M. – 80 

 

Mid- Term SYNOPSIS-  
Subject – Hindi          पूर्णांक - 80 

 

क)  भाषा – माधुरी – पाठ – 3, 5, 6, 7, 8, 9 

ख) भाषा अभ्यास - पाठ – 2, 3, 6, 7, 8, 9 

                      अंक 

1. प्रश्नोत्तर (दो से तीन वाक्य) -      3x5 = 15 

2. प्रश्नोत्तर (एक शब्द में) –      1x6 = 06 

3. कववता (ररक्त स्थान – पाठ – 8)-    1x4 = 04  

4. जीवन मूल्य (पाठ – 8) –     1x2 = 02 

5. बात- चीत के विए (पाठ – 8)    1x2 = 02 

6. वििंग बदि कर विखना –     1x6 = 06  

7. चिंद्र वबिंदु वािे शव्द –      1x3 = 03 

8. अनुस्वार वािे शब्द –      1x3 = 03 

9. शब्द बनाए –       1x4 = 04 

10. खािी स्थान भरे –      1x3 = 03 

11. समान िय वािे शब्द –     ½x6 = 03 

12. वाक्य बनाना –       1x4 = 04 

13. सही (√) और गित(x) का वनशान िगाना –   1x5 = 05 

14. बहुवचन रूप विखें –      1x5 = 05 

15. पत्र िेखन  -              05 

16. वनबिंध – िेखन –           10 

कुल अंक -                80  

Subject – Science 
 

Sl. 

No 
 

Fill in the 

blanks 

True or 

False 

Match 

the 

following 

Tick 

the 

correct 

option 

Definition SAQ LAQ Diagram 

01 My body 1X3=3 1X2=2 - 1X2=2 2 X 1 = 2 
2 X 1 = 

2 
3X1 = 3 5X1 = 5 

02 
Plants around 

us 
1X1=1 - 1X5=5 1X1=1 2 X 1 = 2 

2 X 1 = 

2 
- 5X1 = 5 

03 Leaf - 1X3=3 - 1X2=2 - 
2 X 1 = 

2 
3X1 = 3 - 

04 
Importance of 

plants 
1X3=3 1X3=3 - 1X2=2 2 X 1 = 2 

2 X 1 = 

2 
3X1 = 3 - 

05 Animals 1X3=3 - 1X3=3 1X3=3 2 X 2 = 4 
2 X 2 = 

4 
3X1 = 3 - 

 Total 1X 10 = 10 1 X 8 = 8 1 X 8 = 8 
1 X 10 = 

10 
2 X 5 = 10 

2 X 6 = 

12 

3X4 = 

12 
5X2 = 10 

        TOTAL 80 



 

 

Subject – English 
 

 Reading Section – 10 marks 

 Writing Section – 20 marks 

 

 Paragraph writing      ( 10 marks ) 

 Leave application      ( 10 marks) 

 
 Grammar Section – 25 marks 

 

 One to many.      ( 5 marks ) 

 Cross the odd one out.     ( 4 marks ) 

 Fill in the blanks by using replacing word.        ( 6 marks ) 

 Describing word.          ( 5 marks ) 

 Verb .            ( 5 marks ) 

Literature Section – ( 25 marks ) 

 

 Answer the following question .   ( 10 marks ) 
 Opposite words.       ( 5 marks ) 

 Find out hidden words.         ( 3 marks ) 

 Write the word having same meaning.       ( 5 marks ) 

 Question related to extinct and endangered animals.  ( 2 marks ) 

 

Subject – Maths 
 

Sl. No. Name of the Chapters 1 Marks 2 Marks 3 Marks 5 Marks TOTAL 

1 Numbers up to 9999 3 - 3 x 1 = 3 - 06 

2 Addition - 2x3=6 3 x 1 = 3 5 x 1 = 5 14 

3 Subtraction 1 2x1 = 2 3 x 3 = 9 - 12 

4 Multiplication - 2 x 2 = 4 3 x 2 = 6 5 x 2 = 10 20 

5 Division - 2 x 2 = 4 - 5 x 1 = 5 09 

6 Day , Date and Time 2  2x1 = 2 3 x 5 = 15 - 19 

Total 6 Marks 18 Marks 36 Marks 20 Marks 80 

Subject :- Social Science  
  

SL. 

No. 

Chapter 

No. 

Name of Chapter 1Marks 2 

Marks 

3 

Marks 

4 

Marks 

5 

Marks 

Total 

1 1 The Family 5 1 1 - - 10 

2 2 Family Similarities 5 1 1 - - 10 

3 3 Our Food 4 1 2 - - 12 

4 4 Our Dresses 2 1 1 - 1 12 

5 5 The Early man 2 1 1 - 1 12 



6 6 Learning About Works 2 1 1 - 1 12 

7 7 If you believe you can you 

will. 

2 1 1 - 1 12 

  TOTAL 22 14 24 - 20 80 

 

Class – III 

Subject :- GK 
Sl. 

No. 

Chapter Name Page 

No. 

1 Marks 2 Marks Total 

1 As same as 04 1 X 8 = 8 - 08 

2 Test your Wisdom 09 1 X 5 = 5 - 05 

3 Bird Watch 13 1 X 6 = 6 - 06 

4 Health is Wealth 14 1 X 6 = 6 - 06 

5 Not at ease 16 1 X 6 = 6 - 06 

6 Test your Wisdom 23 1 X 4 = 4 - 04 

7 Quiz Yourself 26 1 X 6 = 6 - 06 

8 Abbreviations 28 - 2 X 5 = 10 10 

9 Nicknames 29 - 2 X 5 = 10 10 

10 India – Largest , Smallest , Highest 30 1 X 5 = 5 - 05 

11 Slogans 31 1 X 4 = 4 - 04 

12 Speed.com 33 - 2 X 5 = 10 10 

 Total  50 30 80 

 

Subject – Naitik Shiksha 
पणठ -  ०१ स े०८ तक 
 

Sl. 

No. 

Chapters सही शब्द 

चुनकर ररक्त 

स्थणनों की पूर्तत 

करें| (०१ 

अंक)  

सही वणक्य के 

सणमन ेसही और 

गलत वणक्य के 

सणमन ेगलत कण 

ननशणन लगणवें| 

(०१ अंक) 

लघु 

उत्तरीय 

प्रश्न 

(०२ 

अंक)  

दीघघ उत्तरीय 

प्रश्न 

(०५ अंक) 

दीघघ 

उत्तरीय प्रश्न 

(०६ अंक) 

दीघघ 

उत्तरीय प्रश्न 

(१० अंक) 

कुल अंक 

०१. ०१ - ०१ - - ०१ - ०७ 

०२ ०२ ०१ ०१ ०१ ०१ - - ०९ 

०३ ०३ ०१ ०१ ०१ ०१ - - ०९ 

०४ ०४ ०१ ०१ ०१ ०१ - - ०९ 

०५ ०५ ०१ ०१ ०१ ०१ - - ०९ 

०६ ०६ ०१ ०१ ०१ ०१ - - ०९ 

०७ ०७ ०१ ०१ ०१ ०१ - - ०९ 

०८ ०८ ०१ ०१ ०१ ०१ - - ०९ 
 आयघ 

समणज के 

ननमय 

- - - - - १ १० 

 कुल अंक १x७=७ १x८=८ २x७=१४ ५x७=35 १x६=६ १x१०=१० ८० 

 
 

 

 
 


